Thermo Scientific News

The Latest Bvolution of the iIQ Series!

May 7, 2019

that will SAVE
you TIME!

iQSeries:0

/ﬁ CO Low 0.000 ppm Warm up

'ﬂ- “Pﬂr;:?g:::ce Change Part Maintenance History
Advanced Maintenance
iQSenesLD
. COLow 0.000ppm  Wamu
il P Rebuild Step POL P Housi
EA- ump Rebui ep urge Housing
07:50:22 Video Board Plumbing
Leak Check
(1) Swage Lock cap (sample port)

Warm up = (EVAWILECE thermo
| eak Check A */\:" 07:50:46
(1) Small rubber cap (purge tubing to pump "Y")

Vacuum Tester with Gauge (with a resolution of .5 in Hg or better)

1. Turn instrument OFF, unplug the power cord.

2. Block the SAMPLE bulkhead on the rear panel with a leak-tight cap.

3. Disconnect the tubing from the filter wheel purge to the pump at the "Y"

fitting and cap the tubing coming from the purge.
k. Squeeze trigger until gauge reads 10 in Hg.

6. Observe vacuum gauge for stable reading for 5 minutes. If reading

A * 04/12/19 remains at 10 in Hg, no leak is present.
PR 07:51:23 Eef

* Acceptable leak rate is .5 in Hg over 10 minutes.
If the purge feature is being utilized, disregard step #3. The PURGE
bulkhead will also need to be capped off with a leak-tight cap.

(ETA/NIC R thermo
07:52.20 EeiEqluile

Equipment Required:

ow 0.000 ppm Warm up

.- Loa
4. Connect the vacuum teg 2t to the EXHAUST bulkhead on the rear panel

TIPS table

Reaction
chamber
cleaning

Pump
rebuild
video

Leak Purge housing
check plumbing

Hydro-carbon PMT

Product kicker replacment

42iQ

Are you tired of
waiting for the

Warm-up?

Our cold-start Warm-up times
have lbeen reduced by an
average of 10 minutes per
iINnstrument model!

v
A

Environmental and Process Monitoring

Issue 100

Don’t Like it?
Disable 1t!

iQSeries:0

A

E=H Eol B

Warm up

Configuration

NOx 0.0000 ppm

Sample Perm

Dryer China DAS

Lag Volume NH; Scrubber

Predictive
Diagnostics

Communications

Roard Analog /O

Digital /O

old

new vl

Alarm Minimum Value

Instrument
Warmup

04/11/119
08:59:.07 EeElie

You can now disable the Warm-up feature in the
instrument’s Configuration menu. Remember,
concentration readings are not accurate until the
instrument stabilizes and is Alarm FREE.

43iQ

48iQ

49iQ

146iQ

410iQ

Who can use a
Alert Assistant”

Lo e

iQ5eries:0

|

NOyx 0.0000 ppm

0.0000 ppm

Warm up

i@ Alert Assistant

NOx

With the iQ Alert Assistant enabled, the instrument will email Thermo
Scientific Technical Support the health check report after each event.
After each maintenance alert or predictive diagnostic alert, Customer Service
will produce a quote for the components that require service. This quote will
get emailed to the email addresses that have been entered into the
“User Contact Information™ menu.

Go Back to
Previous Screen

*‘ VARSI thermo
Al 08:48:46 EelEaltie

-

IQ Alert Assistant

ThermoFisher

SCIENTIFIC

The world leader in serving science

your time!

/
42iQ Optical Bench DMC
MOBEL 420QMOLLY  [42iQss CONVERTER|  42QLS ALL
e | ® [ B Do B
PART NUMBER 4119 4127 4119 4121 4121 4119

1a ASSY, PMT COOLER DMC, 421Q 117272-01 1 Spare Part
1b ASSY, PMT COOLER DMC, 421QLS 117272-04 1 Spare Part
2 ASSY, BASE, PHOTO MULTIPLIER 101324-00 1 Spare Part
3 O-RING, 1.739 ID, 1.879 OD, .070 CSD, VITON 4806 1 Spare Part
4 O-RING, 1.424 1D, 1.630 OD, .103 CSD, VITON 4822 1 Spare Part
6 FEM RUN TEE 9452 1 Spare Part
7 FTG, Elbow, 1/4T OD, 1/8NPT, SS 4430 1 Spare Part
8 CAP, .187 ID, .25 OD 4786 1 Spare Part
9 FITTING, UNION, CAJON, SS, 1/4"T 9211 2 Spare Part
10 O-RING, 414 ID, .072 CSD, VITON 9212 2 Spare Part
11 FITTING, ELBOW, 1/8T OD, 1/8 NPT, SS (not shown) 4403 2 Spare Part
12 TUBING, 1/8, SS, RC TO OZONE CAP OUTLET 117402-00 1 Spare Part
13 PCB ASSY, DMC PMT COOLER 116902-00 1 Spare Part
14 REACTION CHAMBER, 42IQ 117127-00 1 Spare Part
17 TUBE, PHOTOMULTIPLIER, MODEL 42iQ 106066-00 1 Spare Part
18 TUBE, PHOTOMULTIPLIER, MODEL 42, TL, Y, 17 114050-00 1 Spare Part
20 NIPPLE RECOVER 9453 1 Spare Part
21 ASSY, HEATER, 421Q DMC 117012-00 1 Spare Part
5 SCREW, PAN HEAD, PHILLIPS, W/EXT WASHER, FT, #8-32, 3/4,SS | 21-005034-0012 3 Not Sellable
15 SCREW, PNH, PHH, EW, #6-32, 3/8, SS 21-005087-0006 1 Not Sellable
16 TAPE, SEALANT, PIPE THREAD, 1/4 W 5766 AR Not Sellable
19 CAP, .080 ID, 4785 2 Not Sellable

-

New Digital Parts Catalog Now Available!

Component Description

iQ Series Gas Analyzer Spare Parts Catalog
March 2019

Legend

ThermoFisher

Consumable Required every year SCIENTIFIC
Spare part Available for purchase
Optional Not standard component
Not sellable Not available for purchase
4 )
43iQ Optical Bench DMC
4 ASSY, BENCH, OPTICAL, 43iQ, STANDARD 116556-00 1 Spare Part
9 PCB DMC PMT OPTICAL BENCH 116485-00 1 Spare Part
10 ASSY, HEATER, 431Q 115946-01 1 Spare Part
11 LED ASSEMBLY 8890 1 Spare Part
12 ASSY, KICKER, HEATED, 431Q 117035-00 1 Spare Part
13 TRIGGER PACK ASSEMBLY 117779-00 1 Spare Part
1 ASSY, BRACKET, DMC, 43iQ 116601-00 1 Not Sellable
2 SCREW, CAP, SOCKET HEAD, PARTIAL THREAD, #10-32, 2.75, SS | 21-000832-0044 4 Not Sellable
3 CABLE ASSY, DETECTOR, UV 116607-01 1 Not Sellable
6 SCREW, PAN HEAD, PHILLIPS, W/EXT WASHER, FT, #8-32, 1/4, SS | 21-005034-0004 1 Not Sellable
7 TIE, CABLE, NYLON, 4" 5385 2 Not Sellable
- J
16 | IR SOURCE 7361 1 Consumable
1 WHEEL HOUSING 7544 1 Spare Part
3 | ASSY, OPTICAL SWITCH 101714-00 1 Spare Part
6 | MOTOR, STEP, NEMA 23 115925-00 1 Spare Part
7 | ASSY, SOURCE, IR, 48/410iQ 115976-00 1 Spare Part
8 | WHEEL, FILTER, TESTED, CO 7358 1 Spare Part
2 | SCREW, MACHINE, FLAT HEAD, PHILLIPS, FULL THD, #6-32, 3/8,SS | 21-004277-0006 2 | Not Sellable
4 | TAPE, SEALANT, PIPE THREAD, 1/4 WIDE, .0035 THICK 5766 AR | Not Sellable
5 | ORIFICE, 1/8 NPT, BARB, NYLON, .0100"ID 116768-0100 1 Not Sellable
9 | SCREW, PAN HEAD, PHILLIPS, W/EXT WASHER, #4-40, 3/8, SS 102175-00 2 | Not Sellable
10 | PLATE, MOTOR, 48/410iQ 116246-00 1 Not Sellable
11 | SCREW, MACHINE, PAN HEAD, PHILLIPS, FULL THD, #8-32, 1/4, SS | 41453 1 Not Sellable
12 | SCREW, CAP, SOCKET HEAD, FULL THREAD, #10-32, 1.00, SS 21-000832-0016 2 | Not Sellable
13 | SCREW, CAP, SOCKET HEAD, FULL THREAD, #8-32, 1/2, SS 21-000826-0008 2 | Not Sellable
14 | PLATE, DEFLECTOR, AR 116758-00 1 Not Sellable
15 | SCREW, PAN HEAD, PHILLIPS, W/INT WASHER, FT, #6-32, 1/4, SS 109488-00 2 | Not Sellable




